M-

:%P,l

4l
A4

Vrer c{-

:2024. 9. 20.(&)

=z

729

25 %

/ HH

|

o

Al B 7}

=

=

S

HEAH

B A IALE
kel 3ok b g

HOPQ_
’24.9.20.(%) A

T
T

c ) BHHISEAEE

- FuFE 3y

2

88 =5

=

ARE 714

ﬁo
A

o=

;"

oM

GE

A7E 3= A

B
AO

()

>

o}}E 7}

5674 Al A
FA| = 2 glo]

i

<)
pal

AL 93
tglon, 99

5]

}

o
1l

"l

]

LI

T4 % 84

-
It

=

<
3]

L
=
=

A 137E =
A ) ot}

S8, A

el
Hr

T
.

A=A

f

S

‘(1‘34

o] 9.2¢

=

Sl

3}

‘|_

2)7]4
4ol

3L

o

E

AR, )

|
JR—

o)

=

AdgeH, 7] Fes 7k

o

] oFg=

I

4
==

]

Ol M 25 7HR] AtE5H0 &=

7
-

* O
—

gof o] 4% A 2370 Z19elM 1L9%E 719 g Sefo] H4EIRlom,

o] & oF 3.5%5 7} A ET}9.13¢9



old], AF+ A 8.8 FHEFF Fuets w3 YRHIAA FEAk
PF At A9 "ok AEglo] olds] Uyl sialth. A4 AR
&3 AF 2E2 Y = 309 A 35FzHew Y3 PFUE BF
FTEY A9 T4 F 25.229(24.9.69 71@)0] FOFHE 5 AFGAo] FE
stohal F7E AN ARG gk freAd ALS A&8 Wrkar

oy

A4 BFAak PF AFGAC] s 13 AMG9A F77) 2 vhtelE =
A4E AMGA ddol 7wete] s Yrkal ok 1Ak Frrod F
o.nAed A& HA PF oAxA o 9.7% FFTolvw, BA 7154
< AFGES 1A #Hrksk v ™ HUMY S F7F oA S
A2 X &S Ao didnt ol e, 12k H7 g2 728k
AT AZE AR olo s 9EERYH Al o|PA AL Y
QAT ool 12 H7Hd o9 AA| AlGAel disiM = AlGA BI7HE
1197kA] sk Algol, 12€7E= ZE 354 PF ARIAS tjitow
ol 7] B7HE dst= AAEIE AA R D@ g Aol

oISt WA, AAYE Yot ANHOE FEA oS AW Y= FBA
PF AH1ge] 4% L/ A9 AE F EXE MG 520 fmdtol

FAAEe domw REL AF R IF4F 44 TR E So 8.8
= S = = SL O A< =
Fugd Godeel me FUTE W8 AFE AsHez AAGL,

= =] O = == S = = A<
T FAJAR AdS A FEFE U7 24 glo] JdgPE F e F

= o o
=HS 7|2Yd Aot}
== MR- P PSR 2 ol X} g & 21 =35} (044-215-2850)
< &5z > FSAMEEE =R} AR o &t &I (lovehims@korea.kr)
el 2 M ZENSE 2 o X} s ShA %= (044-201-3317)

FEHY A 1} EHEHR} AS 0| &2 (jmoonlee213@korea.kr)

e 2M SENSE 2 oI X} o & ZI &9 (044-201-3411)

2 SMEXRA =2} =R N 31 2 (hkyuoh62@korea.kr)

SroF HA 22993 zH ol X} nSFN Z+od 4= (02-2100-2830)

ZEe8-AM EHERE ALS 2 il =2t (amdor i@orea.kr)
e A =845 A A X} = & 2% (02-3145-7550)
orlZ2s8d=s= =R} B Z 2R (econis@fss.or .kr)
gz | OF= EtXtol|A| =8l FMAM ZAFSLICH

= [— ] [—] <

x{xndaimy T2 S32 Sl =-c=eg,
- ==

_2_



